Singapore Chinese Girls' School (Primary)
Topical Test 2 : Addition and Subtraction within 1000

Section B (3 x 4 marks)

530

A
Y

205 180 ?

530 - 205-180 =145

David had _ 145  eggs left.

or 205+ 180 =385

230 —-385=145

or 530 — 205 = 325
325 ~ 180 = 145
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Amy 63
283
283 +63 = 230
(a) Tomhas _346 stamps.
346 + 283 =629
() Theyhave _629 stamps altogether.
11. ) 230 L
Adult ? (b
uits 658
Children ? (a)

658 — 230 =428

‘ (é) There were __ 428  children at the museum.

428 —230 =198

(c) Therewere__198 more children than adults.
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Section A {3 x1 mark)

For each question, 4 options are given. One of these is the correct
answer. Make your choice (1, 2, 3 or 4) and.wiite it in the bracket
provided.

1. 5 groups of 4 is the same as
(1) 5x5x5x5 (2) 4x4x4x4
(3) 5+5+5+5 (4) 4+4+4+4+4 (
2. There are threes in 18.
(1) 6 @ 8
3) 9 ' 4) 21 (
3. 10+10+10+ 10 = X 5

What is the missing number in the box?
{1) 40 2y 10

(3) 8 4) 4 (



Section B { 7x 1 mark)

4.

- For each question, write your answers in the btanks provided.

89x2= 10 +

80 =10 = 2 x

100 — 65 =5 x

® x & =9

L AR R AE A

Wiite one division sentence for the picture below.
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9.  When a number is divided by 5, the result is 6.

The number is

10.  The pupils in Primary 2A are sitting in groups of fours.
There are 9 groups altogether.

There are pupils in Primary 2A.

Section C (10 marks)

Questions 11 and 12 carry 3 marks each. Question 13 carries 4 marks.
Draw models for the problem sums and solve them.

Marks are given for models. Show your workings clearly.

11. Mrs Tan baked 28 cupcakes. She ate 4 cupcakes and packed
the rest into boxes of 3. How many boxes did Mrs Tan use?

Mrs Tan used boxes.




12, Mona fried 20 chicken wings and she ate them with her 4 friends equally.
How many chicken wings did each of them eat?

Each of them ate _chicken wings.

13. There are 8 cows and some ducks in a farm.
All the animais have 42 legs altogether.
(a) How many legs do 8 cows have?
(b) How many ducks are there in the farm?

- (@) 8cowshave legs.

(b) There are ducks in the farm.
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Section B

Q4)8
Q5) 4
Q6) 7

Q7) 12
Q8)18+3=6
Q9) 30

Q10) 36
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